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Note :
1.  Any one of the following areas can be offered :
(1) Elements of Business.
(i1)) Elements of Book-Keeping and Accountancy.
(iit) E-Typewriting (Theory) English or Hindi.
2. For E-Typewriting (Theory) English or Hindi (Max. Time : 2 Hours and Max.
Marks : 30).

(i) QT & T
(i) Elements of Business

WIAT=T 397 :

G) 39 9T G FT 36 T &1

(i) T 797 3ifTare &/

(iti) Fo7-T& 1 G 16 7% Tgladhedia To7 & it Toi® Teh 3% H &/ 17T T fadeql &
9 8l fadeq & - § forar &1

(iv) F¥T-TE&I17 T 26 TF JAF 973 3Hl 1 81 37 J97 & S 70 I G e 78l
gl =eq |

(v) F¥T-TEI27 T 32 T JAF J¥74 37H BT &1 T F97 & W 100 1551 G 3718 78l
g7 Feq

(vi) F¥T-TE&T33 T 36 TF JF F¥75 H H1 &1 57§99 & W 150 ¥Is51 O 37 78l
g =Ey

(vii) TH F¥7 & G4 91T UH-T19 & T &1

35 2



General Instructions :
(1) This part has 36 questions in all.
(ii) All questions are compulsory.

(i1i) Questions from serial number 1 to 16 are Multiple Choice Questions carrying one
mark each. These are to be answered by writing the correct option in your

answer-book.

(iv) Questions from serial number 17 to 26 carry 3 marks each. Answers to such questions

should not exceed 70 words each.

()  Questions from serial number 27 to 32 carry 4 marks each. Answers to such questions

should not exceed 100 words each.

(vi) Questions from serial number 33 to 36 carry 5§ marks each. Answers to such questions

should not exceed 150 words each.

(vit) Attempt all parts of a question together.

U9 WEAT 1 ¥ 16 ok & W9 Teh-Ueh 3ich dTol Sgferehedl W9 &1 3MueRt fau g
fashoul ® 9 T WE faeshow AT € 3R SHeRT STUAT STR-Yeht ¥ fora T ¥
Questions from S1.No. 1 to 16 are Multiple Choice questions carrying one

mark each. You have to choose one correct option out of the given
options and write the same in your answer-book.

1. Y SEIES S S foshdl shl &1 QT © I8 Jfad i o fag ff axgafl ok Jamsfi 1
F Y H h AU 3§ TR FTaH HIAT §, Fed |

(F) hiee AR
(@) efoe A

() St AT ATAH

(F) 378 q D TRl

35 3 P.T.O.
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A document issued by the seller to the buyer to inform how much to be paid
for the goods and services supplied is called :

(a) Credit note

(b) Debit note

(¢c) Invoice

(d) None of these

5T ¥ HIH-T1 wed faswa gfsman o1 T8 § 2

(%) ToamoiE shdl §)1 I=des S
(@) sl BRI e (3Tew) e
(1) &G I shell I AT

(%) forshan g0 shfee e TaR T

Which of the following is not a step in the selling procedure ?

(@) Enquiry by the intending buyer

(b) Receipt of order from the buyer

(c) Daispatch of goods to the buyer

(d) Preparation of credit note by the seller

et H g B W foshdr qH a1fiE o HeRa ©
() Tt lig oereen o

(@) forwa srerat sHacen #

(1) SR fasha

(%) =¥ 4 T

In case of default in payment the seller can repossess the goods in :

(a) Hire purchase system

(b) Instalment payment system
(¢) Credit sale

(d) None of these
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9 g Afad IS 7 H TR @S 9Rdl § 99 TS & gam fatg g 1

() S @ T @l

(@) T4 g T{Ig
(1) oo g1 Wl

(F) UH & TRl AU 4 @lig

When a person wants to buy goods in bulk, the best mode of purchase for him

will be :

(a) purchase by inspection
(b) purchase by sample

(¢) purchase by description

(d) purchase from the nearest retailer

a8 Rl nfafafear s awgel o Yarsll & yae # SUeE ¥ URd Hi AR 1

frdfera et € eria ot ®
() FF (TS &

(@) gaE %

() forawor =

(%) fasa (a=M1) &

All the activities directed towards the flow of goods and services from the

producer to the consumer are part of :
(a) Purchasing

(b) Transportation

(¢) Daistribution

(d) Selling

P.T.O.
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SMHA-|MEA 1 ek g fomn s iR fosra & € -
(%) fauria ) |

(@) e e AUR H

() gW 9N |

(7) et ®

Buying and selling takes place without any face to face contact in :

(a) Departmental store
(b) Mail order business

() Super Bazar

d) Mall

Ta o feq & foedt ot ¥9g @l w1 & fau gfauwsmqs fafy ¢ -

(F) gWR SR

(@) Enfad fosel 73+

(1) faura 9sr

(%) JEAEG ghH

To buy goods any time during day or night, a convenient mode is :
(a) Super Bazar
(b) Automatic Vending machine

(¢ Departmental store

(d) Multiple shops



10.
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FHFII H JH AEEH 8 TR BH A T Hd ©

(%) Hict |

(@) faura wer 9

(1) gR 9N &

(%) SAF-<3T =R 9

Knowledge of computers is required to buy goods through :
(a) Mall

(b) Departmental store

(¢) Super Bazar

(d) On-line shopping

I T e fafs JHR &t ghH TEH & v § 3T At ¥, hed ¢
() fauria R

(@) JEAEG ghH

(1) €ieh SIS

(%) T 9§ =[E T

The place where different types of shops are available within one building is

called :

(a) Departmental store
(b) Multiple shops

(c) Wholesale market
(d) None of the above

Tefteamr feran T ®
(%) St gr

(@) B g

(1) AfwTa §ah g

(F) 3T q DI TRl

P.T.O.
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Teleshopping is done through :
(@ T.V.

(b) Telephone

(c) Personal visit

(d) None of these

frefafed fasa Jadd w1(%) ahe(qdF) e
() qud A

(@) fewpree FU

(1) gfqafrad
(9) I8 9t

The following is/are the method(s) of sales promotion :

(a) Free samples

(b) Discount coupons
() Contests

(d) All of these

i fasha o1 =R 33T © :

(F) @ 9&1 & YA & FQH

(@) 3= TUEdl ATl a&qU JeH HET

(1) UTeehi sh! AR HIE HET
(=) gt i fasht aem

The ultimate objective of personal selling is :
(a) To raise standard of living

(b) Provide better quality products

() More satisfaction to customers

(d) Increase sale of products



13. foumma & goigeifie meam ¥ ofmar © 1

() AGAR

(W) gEl TSI
() s&E
(¥) IR

Electronic Media of advertising include :
(a) Newspaper

(b) Vehicular display

(c) Internet

(d) Poster

14. e & foqmo" &t Sugaaar GHERE @l I 1

(%) 39T g YH9E ST hi SEd
(Q) Tl &I
() 3T9G &AM

(%) favr &7 =1 foury U

Suitability of Radio Advertisement does not include :

(a) Need of visual effect
(b) Remote areas
(c) Illiterate persons

(d) Particular region or specific customer

35 9 P.T.O.



15. Afc fordl =meEfae T8 §) U 99NER 99 § fagqe fon S § @ a8 e
AW :

(%) sAaeIi e A
(@) ©UE HIEAH
(1) Al T <
(7) T 9 e T

If an advertisement is given in a newspaper by a business house, it is using :
(a) Electronic media

(b) Print media

() Vehicular display

(d) None of these

16. ‘T TR TH g TRl faska yade & 39 a1 ST T ¢
(%) Wifem =1 w91 &1
(@) gfqtiar =
(M) TRy fewhrse =
(%) T T A

‘Buy one get one free’ is an example of the method of sales promotion :
(a) Premium or free goods

(b) Contests

() Special discounts

(d) Free samples

35 10
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18.

19.

20.

21.

22.

23.

35

forshaehdl o fohwel dIM 0N Sl Scei@ hiTwIC |

Mention any three qualities of a salesperson.

ST STUT IEgel % qud T Fl sled 2

Why do producers distribute free samples of their products ?

TS YAM & Rt AR & IRYIMG ST FE T ISR WIT |

Define large scale retail trade. Give two examples.

fewhree WR #1 81d & 2

What are discount stores ?

S 3T AR & g i fasivand sasy |

State any three features of Mail Order House.

o [a [aWal

watterd skt w39 gR1 faska 39 ol fhdl ©: a%qsil & 3= < |

Give examples of six products that are suitable for sale through Automatic
Vending Machine.

Te fasha 3R SuUR fawma w1 dfaa & guzmE |

Explain briefly the term cash sales and credit sales.

11 P.T.O.



24.

25.

26.

27.

28.

29.

30.

35

fectterl e = 2

What is delivery note ?

e g g @ 379 RN HHSd © 2

What do you mean by purchase by inspection ?

%9 3R famg =1 gRufyg SifsT)

Define purchase and sale.

Rt @it @R fhed yam 9gfd # TR & f=l 9R g fagsli &1 aasu |

State any four major points of difference between Hire Purchase and

Instalment Payment System.

e & g fast &1 gfshan & 9HsmE |

Explain the procedure of sale through tenders.

oAiforeht M §? THH T Y ® 2

What is Teleshopping ? What are its benefits ?

IR § Hid ol AR Il & his IR HROT IqiEy |

State any four reasons for the popularity of Malls in India.

12



31.

32.

33.

34.

35.

36.

35

AfervTa forsha ol TR iIfST | Tk AT ST9 3e91E & YR o fou, safema
fang o1 SEIHIA 1 HLAT § 2

Define personal selling. Why does a manufacturer use personal selling for

promoting his product ?

e N foqua & oy i HHe = § 2

What are the advantages and limitations of advertising through internet ?

fama @ o1y = wuza €2 fawa o wfefed feamet =1 saEu)

What do you mean by selling ? State the activities involved in selling a

product.

faumia 9Yer IR JEdeg ghMl § Sa JarEd |

Distinguish between Departmental stores and chain/multiple stores.

fasra o & fo=dl o9 ade #1 SUgF SeRAvll afed IuEET |

Explain any five methods of sales promotion with suitable examples.

i i Ueh qohdidh & &9 § 99199 & Tecd &l =9 HINT| 3T dohleh i
=g Fam F § ?

Discuss the significance of advertising as a promotion technique. What are

the chief limitations of this technique ?

13 P.T.O.



(il) TERGTAT qUT TGTeh o da<d
(ii) Elements of Book-Keeping and Accountancy
QIET=T (3597 :
G) 39 9T G FT 36 T &1
(i) @ geT Hfrard &1
(i) FOT-9E& 1 G 18 TF Tglascdid T97 & vl T b 3% &1 &/ 1T T faahedl §
O gl faswey & SW-YRasr & ferar &1
(v) TH J97 & T4 9T TH-T19g & H3 &/

General Instructions :

() This part has 36 questions in all.

(11) All questions are compulsory.

(1it) Questions from serial number 1 to 18 are Multiple Choice Questions carrying one
mark each. These are to be answered by writing the correct option in your
answer-book.

(tv) Attempt all parts of a question together.

Y GEAT 1 § 18 Tk o U9 Ueh-Udh 3ich ATl Igiaehedid U9 €1 STTUeh! fgU 7w
fasheul ® W Ush Wel fashed T ¥ 31 SHeh! 7ut STR-YfkehT § forar ¢
Questions from S1.No. 1 to 18 are Multiple Choice questions carrying

one mark each. You have to choose one correct option out of the
given options and write the same in your answer-book.

1. U fafaa o= & v g ¥
() 2
(@) 4
() 3
(¥) 6

A bill of exchange has parties :

(a)
(b)
©
(d)

W ks~ N

35 14
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[l

A1l afsetsr 1 foal Teqa foven wIran © 1
(%) foa forg? & w7 W

(@) faa ©eR FH & 7 |

(M faa & U I & 7999 W

(%) foet &1 qeeichd id 99y

A bill is presented to Notary public :

(a) at the time of drawing the bill

(b) at the time of acceptance of the bill

(¢) at the time of dishonour of the bill

(d) at the time of the endorsement of the bill

3R <7 fafy dfserer stasm™r © @ oma <7 fafy gnft 1
(%) sren faq

(@) fosen f

(M) =@ fe

() T HEM 915 3 ofrerl fed

If due date is a public holiday, the actual due date of the bill will be the :
(a) following day

(b) preceding day

() same day

(d) day which will come one month later

<9ek 1G9 W T 5,000 1 ot faan| Sues 3 39 foa &1 gaifrd o= feam 1
fa g 7 38 999 &l geiferad o faan| foa &1 qraedt © ¢

() <taeh
(@) He™
(M fam=
() T3

15 P.T.O.
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Deepak draws bill on Sandeep for ¥ 5,000. Deepak endorsed it to Vinay. Vinay
endorsed it to Naman. The payee of the bill is :

(a) Deepak
(b) Sandeep
(¢ Vinay
(d) Naman

30l Repfe 8 &1 <o § onw 9 @@ 9 feprerd € -

() IR il + MMe0T+ e it — SAfam i

(Q@) & (SAMER) I GSiT — R0 — o[ YSil — AR gt
() &fa (eER) H Y + AT - TA Yol — A g
() ST | ¥ fordfl TR e

In the case of incomplete records, profit is calculated as follows :

(@) Opening Capital + Drawing + Fresh Capital — Closing Capital
(b) Capital at the end — Drawing — Fresh Capital — Opening capital
(c) Capital at the end + Drawing — Fresh Capital — Opening capital
(d) None of the above

frefafea & & frod syl draiea Rerd W@ <M &1 ifus duremn €2

o o

(%) dfscter fafies s

o

(@) yEae fafies s

(1) T Bl THH
(%) T& o fauniia 9er

In which of the following there is greater possibility of maintenance of
incomplete accounting records ?

(a) Public Limited Co.

(b) Private Ltd. Co.

(¢) A small shop

(d) A large departmental store

16
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3ol erEiRd el @ ammn M faxite feafa &1 faexo omidR M Feam & ;@ 1
() qorT 7=

(@) e g8 ki feer]

(1) feafa faaror (Wede w3 TheT)

(%) fo<ia wdsardi &1 foax

Statement of financial position prepared from incomplete accounting record
1s commonly known as :

(a) Balance sheet

(b) Cash flow statement

() Statement of affairs

(d) Statement of financial operations

TR Hufadl oIk Sifacl o1 eRftsess 39 %AW % 10,00,000 3R % 5,00,000 8, 1
I MR ! YR Fﬁ g

(%) % 10,00,000

(@) % 5,00,000

(1)  15,00,000

(%) SR | | i AL

If the opening balances of assets and liabilities are ¥ 10,00,000 and ¥ 5,00,000

respectively. Then the opening capital of the business is :
(a) < 10,00,000

(b) < 5,00,000

(¢ ¥ 15,00,000

(d) None of the above

IS 1Y h 1
(%) 9o 93 ¥ 7=l fe@mn =fee

(@) qoF 99 % Hufa uet # fe@mn =nfen

() go 9 § ke § SHT AT AT =M

() go@ o | Uit H S R A Afey

17 P.T.O.



Net profit should :

(a) not be shown in the balance sheet

(b) be shown on the Asset side of the balance sheet
() be added to cash in the balance sheet

(d) be added to capital in the balance sheet.

10. = faftea o= < fe@mn s
(%) qeH-93 & gHafd g8 |
(@) qe-99 & < 981 |
() W9 o B G % T U
(%) o9 T§ B @ & 9 9 o

Bills Receivable will be shown on the :

(a) assets side of the balance sheet

(b) liabilities side of the balance sheet
(c) debit side of the Profit and Loss Alc
(d) credit side of the Profit and Loss A/c

11. fom foeht s At €
(h) A&
(@) =4
(M) wrafd
(%) =t

Goods remaining unsold 1is :
(a) an income
(b) an expenditure

() an asset
(d) a liability

35 18



12. fodt safy & SRA fey T etmet iR w=f =1 femm o foxitg faaxo

13.

14.

35

FEd ¢

(%h) qeri-9A

(@) e g8 foexu

() =AUR R @19 T @
(%) Tt it A 1 foerm

&

1

Financial statement which displays the income and expenses of a business for

a period of time is called :

(a) Balance sheet

(b) Cash flow statement

(¢) Trading and Profit and Loss A/c
(d) Statement of owner’s earnings

f= & ¥ AR &1 T &1 S0l HiA-91 8 2
() T5 3R o &1 I

(@) AR

(1) 3R

(9) ASIgl T A

Which one of the following is an example of business asset ?

(a) Cash and bank balance
(b) Creditors

(¢) Drawings

(d) Wages and salaries

=1 & 9 % A9 1 &H X <M ?
() Tl A=M 1 Hd T
(@) a1 T YIAE K]

() T gt T

() S H 9 hig T8I

19

P.T.O.



15.

16.

35

Which of the following will reduce the profit ?

(a) purchasing a machine
(b) payment of salary
(¢) 1introduction of new capital

(d) none of above

et fe@md st @ -

(F) ¥ T @A & Sfae & AR
(@) oY B @A & shfee &l 3R
(M) g 95 & <l i SR
(%) e 93 % Hufaal st IR

Goodwill 1s shown on the :

(a) Debit side of Profit and Loss A/c
(b) Credit side of Profit and Loss A/c
(c) Liability side of Balance Sheet
(d) Asset side of Balance Sheet

Id TfIca 9% <Iae Bt §, 5= feem g ®
(F) T 9 & i

(@) 9 9 & ofiR

() T8 9 & i

(%) YR & QR e hied & HidX
Current liabilities are such obligations which are to be satisfied :
(a) within one year
(b) within 5 years

(¢) within 10 years
(d) within life of the business

20



17. %9 W AR Wl fe@mn S 1
(%) AR @Td |
(@) @9 T T T
() do 93 |
(%) R @ H iR qo o § o
Carriage on purchases will be shown in :
(a) Trading Alc
(b) Profit and Loss Alc

(c) Balance Sheet
(d) Trading A/c and also in the Balance Sheet

18. Y = @rar fewm ¢ 1
(h) Hhd &Y
(@) IS A
() erfefen feafd
(%) Tt & e

Profit and Loss Account shows :
(a) Gross Profit

(b) Net Profit

(¢) Financial Position

(d) Owner’s Capital

19. fafma 931 &1 = o9 Sed fosivde oqm | 3

State any three essential features of bill of exchange.

35 21 P.T.O.
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21.

22.

23.

24.

25.

26.

35

= o iR <9 foar & st 3R aqEu |

Distinguish between bills receivable and bills payable.

fa<itar foawor #1 20 €2 3= & o/ S § 2

What are financial statements ? Why are they prepared ?

Thd A9 M 8?2 T oy IR G A9 & o9 3@ aaey |

What is Gross Profit ? Distinguish between gross profit and net profit.

F1 T &I FRO B Tohd 8 {Seh! 918 9§ Tk A S7qul e @1 =R ?

What may be the three important reasons due to which a businessman may

like to maintain incomplete records ?

Thed Ylafe Jomelt &1 31 A §7 TR w8 o fa¥vame aqey |

What is meant by single entry system of book-keeping ? State any two
characteristics of it.

frafq foeRo (Wede 1w othe™) F1 €2 I8 Fl o™ Sl § 2

What is statement of affairs ? Why is it prepared ?

feorfq foerur (RWeHe 31w sTthaT™) q91 qeM-U3 & o9 <R & 1 fog § ?

What are the points of difference between Statement of Affairs and Balance
Sheet ?

22



27.

28.

29.

35

fafrag 931 =1 gRenfog =81 39 o = €2 faf g o= ° wige gell & M
AR |

Define bill of exchange. What are its advantages ? Name the parties involved

in bill of exchange.

gt fIqet o @l | Tk Ay foog & s | off T g 9§ 39 T4y d 39k
B 3IfSid &9 A1 IS T THAM i TUAT FHIfST

3
T H GRE hY Yol 1,20,000
A & 3Td T IS 2,00,000
g % iR faga gr1 o T Ueh 50,000
g1 & iR foaga gr feeredt 18 @ 30,000

From the following information extracted from the records of Mr. Vipul for a

particular period, compute the profit earned or loss incurred by him during
that period :

3
Capital at the beginning of the period 1,20,000
Capital at the end of the period 2,00,000
Capital brought in by Vipul during the period 50,000

Amount withdrawn by Vipul during the period 30,000

31qul Reh1e T @i AT Jasy |

State the disadvantages of keeping incomplete records.

23 P.T.O.



30.

31.

32.

33.

35

W 3 ¥ 10 A HI YSiT ¥ FIEE IRET AT 38 T 6,20,000 HT HIA HA
foram 3R 2 5,50,000 T A1 J=T1 I SMGHET T 20,000 3R foIsha I9Ht T 50,000
! ot | T g1 T foaht 1@ T 3Heht &FTd 2 2,00,000 &Y | Fohdd a1y fHah1feIq |

Swamy started business with a capital of ¥ 10 Lakh. He purchased goods for
¥ 6,20,000 and sold goods for ¥ 5,50,000. Purchase Returns were ¥ 20,000 and
Sales Returns were ¥ 50,000. The cost of stock remaining unsold was ¥ 2,00,000.
Calculate Gross Profit.

oY T B WA & g § 2 U S 0 adsy S 39 ofee i 3R et S
Yehdl B q1 Tk THT TS S 39 Hhiee i IR fol S Hehal & |

What is Profit and Loss A/c ? Give any two items which may be written on its

debit side and one item which may be written on its credit side.

HE IR TR quEl 3R a8 =R el dufhal & 9 fawd |

Name any four fixed assets and any four current assets.

1.3.2015 1 TOSHR & off A1 TehTe1 3 USIret o7, 7% faoett & 4t fovm fog =1
% 45,000 1 AT =11 4t fovm 98 A T 5,000 T foU qen 9w UM & fow ©&
T A8 1 foa TR & & T TS 81 T 4 o1eq 9ontst g1 4f fowmfas

~

R g STH 9t faa &1 s\ |

Shri Atma Prakash of Bijnore sold goods to Shri Bishen Singh of Punjabi

Bagh, New Delhi for ¥ 45,000 on 1.3.2015. Shri Bishen Singh paid % 5,000 in
cash and agreed to accept a Bill for three months for the balance amount.
Prepare a Bill to be drawn by Shri Atma Prakash on Shri Bishen Singh.

24



34, Tr=fafed g=1 ¥ 31 fo@=R, 2014 H ¥ATK T dcl a8 & fau =R @ 6
TH-oY @I 4R HIfST

Z
ER| 3,00,000
IEER] 5,00,000
ERECIRE] 14,400
IEERECIRE| 10,600
TAR TE el 2,900
1-1-2014 I Vi® 24,700
E\ECS 25,000
TrteR 10,000
R 43,600
LR 1,20,000
ECA] 7,400
T YT 5,000
31-12-14 ! =i® 32,600

From the following information prepare Trading and Profit and Loss Account

for the year ending on 315t December, 2014.

54
Purchases 3,00,000
Sales 5,00,000
Purchase Returns 14,400
Sales Returns 10,600
Freight and Carriage 2,900
Stock on 1-1-2014 24,700
Cash 25,000
Furniture 10,000
Office Expenses 43,600
Salary 1,20,000
Discount allowed 7,400
Discount received 5,000
Stock on 31-12-14 32,600
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35. Tsh AN & 31 fegmR 2014 #1 IR fow 7T qo9e ¥ < T 9 S\ @

35

3H%h AU HT qeH-T3 (IR DI

z
LETS 10,000
%l TR 80,000
%l AIER 2,000
EED 1,70,000
o] 35,000
TSt 3,00,000
e 17,000

31 feHaX 2014 1 Tl T 65,000 T 1 3R I & IE T 75,000 HT 1Y 3AfSia
RSl

Prepare the Balance Sheet of a trader from the following information taken

from his trial balance prepared on 315t December, 2014.

%
Cash 10,000
Total Debtors 80,000
Total Creditors 2,000
Bank 1,70,000
Furniture 35,000
Capital 3,00,000
Drawings 17,000

The stock on 315 Dec. 2014 was of T 65,000 and the profit of ¥ 75,000 was
earned during the year.
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36. 1319, 2014 HI o 9T YT A T 1,00,000 HT ST THMHT SHdE STRE Foham |

35

IR AT WG H-HITAT hi fg-Ffafic Jome & TR Tl W1 9 & IRE
IR T 34,000 T Al ISt @ME | 3=0A T 2,000 U HIE 3797 Al S
% fau el | 31 7, 2015 &1 3! GHfaal T6 e 4 J6r 9 .

z
Fel AIER 1,80,000
ih 49,500
Fl TER 2,51,200
S o Ui 49,960

31 A4, 2015 &1 feerfq faeror (Rede 3 Ther) R 99 & fauw oy &) <A
e foaor R wifsw |

Mr. Ved Prakash started his business on April 1, 2014 with a capital of

% 1,00,000. He did not maintain his books according to double entry system
of book-keeping. During the year he introduced additional capital of ¥ 34,000.
He withdrew ¥ 2,000 per month for personal use. On March 31, 2015 his assets
and liabilities were as follows :

%

Total Creditors 1,80,000

Stock 49,500
Total Debtors 2,561,200
Cash at Bank 49,960

Prepare statement of affairs as on 315t March, 2015 and a statement showing
profit for the year.
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(iii) 3-2amur (Fagr= ) st fe<t

(iii) E-Typewriting (Theory) English/Hindi

QrHT=T (7397 :

(i)

(i)

(iiv)

(iv)

)

3G 9T F FeT 15 F9 &

QY go7 3ifard &1

ToT-GE&I 1 T 6 7% & F97 Fgd B¢ I aIc & IR JoIF F97 Tk 3k F 81

Ty7-G& 7 G 12 TF J&% J972 3l &1 8/ 399 I DI 84 =ity 3R 60 Vil
Y G 37yF & 781 &7 TRT/

Tv7-G&IT 13 T 15 % Jid J97 4 I T &1 37 F9I & S0 100 J=< A& 4
3 & Tl 817 AN

General Instructions :

()

(i)

(iii)

(iv)

)

35

This part has 15 questions in all.
All questions are compulsory.

Questions from serial no. 1 to 6 are very short answer questions and each question

carries one mark.

Questions from serial no. 7 to 12 carry 2 marks each. Answers to such questions

should not exceed 60 words each.

Questions from serial no. 13 to 15 carry 4 marks each. Answers to such questions

should not exceed 100 words each.
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1. Seyie w1 el B2 1

What is a Spread Sheet ?

9. fewice TaETde &1 1 31 § 2 1

What is meant by Default Alignment ?

3. TEIAE 91 B §? 1

What is a manuscript ?

4. % GEEA w1 F e 72 1

What is meant by Proof Correction ?

5. TRWERET H A &I MM Hd 90T fhad TR (WIFH) &l T &G & a1
T ST & 2

How many strokes are counted as one word while calculating the speed in

typewriting ?

6. CRWEET S Tyt fafy s gt g2 1

What is Touch Method of Typewriting ?

7. TH A H g9 H9 fawd €2 1075 $iR 569 &1 WS YW wE & faw g 2
fafaw |

How do we write a Formula in Excel ? Write a Formula to get the total of 1075
and 569 ?
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10.

11.

12.

13.

35

T frd hed €7 9 hH AW <4 §?

What is known as Range ? How is it named ?

TRTEET § M IR Wl S el IR Tafaal 9dea |

Point our four errors commonly committed in typewriting.

"3 TIfd o TAT ST 1 T &1 HAT AT | HRUT <d T 59 HYF T FHA

HIfeTT |

“Accuracy should not be sacrificed for high speed”. Support this statement

giving reasons.

% Geed fag 1 S0 €7 I T TRMRE & 5% ST STadeh © 2 39 gl
T YA FH T T A B ?

What are proof correction signs ? Is it necessary for a typist to know them ?

What are the advantages of using these signs ?

TR Teh &A@ 2RT i & fau fear T 81 iU ey &3 9 98a 31
FT HA ?

You are given a manuscript for typing. What will you do before starting the
work of typewriting ?

Teh SSTRYUT i WAl ¥ AR foh TRWERET H 3g T ! Tl e JohR &t
STt 2

Explain with the help of an example as to how is net speed in typewriting

calculated.

30



14. Trefafed g Gaier fogl & Y odEy -

15.

35

o Z

@ //

@) d/

(1v) stet

(v) trs

(vi) Ctr
(vil) run on
(viii) &/,
Give the meaning of the below given proof correction signs given below :
o <
@) //
() d/
(1v) stet
(v) trs
(vi) Ctr

(vil) run on

(viii) @/

ToRIel U e qUT SR &1 Bid 2 3L SIfeu |

What are Constant and Data in Excel ? Give examples.
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